

Steps

- ① Calculate the antiderivative
- ② Plug in given  $x$  and  $y$  values to solve for  $C$
- ③ Rewrite  $y =$  equation with  $C$ -value
- ④ Repeat this process if you were given the second derivative  $\frac{d^2y}{dx^2}$

ex

$$\frac{dy}{dx} = 6x^2 - 8x + 3 \quad y = 4 \text{ when } x = -1$$

$$\textcircled{1} y = 2x^3 - 4x^2 + 3x + C$$

$$\textcircled{2} 4 = 2(-1)^3 - 4(-1)^2 + 3(-1) + C$$

$$4 = -2 - 4 - 3 + C$$

$$4 = -9 + C$$

$$\begin{array}{r} +9 \\ +9 \\ \hline 13 = C \end{array}$$

$$\textcircled{3} y = 2x^3 - 4x^2 + 3x + 13$$

$$\text{ex } \frac{d^2y}{dx^2} = 12x - 8 \quad \frac{dy}{dx} = 5 \quad y = -1 \text{ when } x = 2$$

$$\textcircled{1} \frac{dy}{dx} = 6x^2 - 8x + C$$

$$\textcircled{2} 5 = 6(2)^2 - 8(2) + C$$

$$5 = 24 - 16 + C$$

$$-3 = C$$

$$\textcircled{3} \frac{dy}{dx} = 6x^2 - 8x - 3$$

$$\textcircled{4} y = 2x^3 - 4x^2 - 3x + C$$

$$\textcircled{5} -1 = 2(2)^3 - 4(2)^2 - 3(2) + C$$

$$-1 = 16 - 16 - 6 + C$$

$$5 = C$$

ex

$$a = -16 \quad v = 4 \quad s = 15 \text{ when } t = 1$$

(second derivative)

$$\textcircled{1} v = -16t + C$$

$$\textcircled{2} 4 = -16(1) + C$$

$$20 = C$$

$$\textcircled{3} v = -16t + 20$$

(first derivative)

$$\textcircled{4} s = -8t^2 + 20t + C$$

$$\textcircled{5} 15 = -8(1)^2 + 20(1) + C$$

$$15 = -8 + 20 + C$$

$$3 = C$$

$$\begin{array}{l} -1 = 16 - 16 - 6 + C \\ 5 = C \\ y = 2x^3 - 4x^2 - 3x + 5 \end{array} \left. \vphantom{\begin{array}{l} -1 = 16 - 16 - 6 + C \\ 5 = C \\ y = 2x^3 - 4x^2 - 3x + 5 \end{array}} \right\} \begin{array}{l} 3 = C \\ \textcircled{6} s = -8t^2 + 20t + 3 \end{array}$$